10 oottt

1.1 OO

gbogobogoboobuoobboogbbobobooogboobbooboooboobo
gbggbobooboobooobbuoobboobooooobooboooboooboogog
gooobog

1.2 OO

1.2.1 O0O0OO0OO

goobboboboobodgooooooobobobbbobboouooooooboboboobobon
gbooboboogboboooobbboogobboooobboboooooboooono
OOoo0ooOob0obooooooboboooobOoboobDobDob0obobobOobOobo AOOo
OOoooboobOobobooocol1ApbobooooooobooooooboooooDobOoDbOoDo
goo

oooobooboobgovobuooboooboo/obooobog

gbboogoobobooogbbuooon

000000000000000000000 ROODOOODO000000
V =RI (1.1)

0000000000 Vv/AOOOOOODDoOOoOoOOoOoooQoooo

1.2.2 O00O0O0O0O0O

gbodgdgbboobbooboooboboobboobboobboobbobbooboooon

gboggboogbogbboobooobbooooboogoboobbobobooobooboon
gbbouogoobboogobbooogbbbooobobooobobbooobbboooboboobon
gobobbobbobobdguoooooobbobobboodoooooooobobobooon
gobobobobbobobdogoooooobbboobbbbbodooooooooboboboobooon
OOoooobooboobooboooooooobobobooDo @boobooboboboooovoo
0000000000000 0ooo0ooooo0oo cooooooooooooooO (K)o
goo



0000000000000 :(x)0000000000000»(¢)0000

(1) = (1) (12

gooo

goobodan

1.2.3 0O0O0OO

gbogbuogobodgobobobuogbobbbogbbooboboobbooobooooba
gboggboogbogobboougbooobbobbooboognoobuooboboooobon
gbggbuogoboboobbooboooboobbooboooooboobbbooooba

d
goboboogboobooood (7;Z¥1J(t) goobooogbod

V—u(t) = RC%v(t) (1.4)

gooo

U 1l: 000000000

V—o(t)=X()00D00000

X(t) = —RC%X(t)

| 0oooo

2



—_
2
>

—~
o~

)

|
Q2
~
Il

RC X
s

log X (t)

gooboogan

X(t)

X()=V—v()000D00D0

V —(t)

t)
000000

o)
[
|
Il
0 —

%

t
eXP(Cl - %)

%

t
70

expler —

(1.5)
Odooogt=000 v(t):()DDDDDDDD
expler) = V (1.6)
Odo0ooooooogooogoooooooooooog
ot) = V(1 — exp(~2)) (L.7)

r=RCO0OO0OO0OODOODOOOOO

1.24 0O000O0OOOOOOOOOOO0OOO

0000 o(t) =weoswt 0000000000000 0O0O0OO0OOOODODOOD0wWOOOOOOOM
f=w/22000000000000000 ROODDOOOO COODODODOOOOOOOOO

al [ra ¢

LA I
o Lo

012:00000(M000@IN000000

1 000000000000000000000000000000 ()0 v(t) = vocoswt = Ri(t)
00000000

i(t) = U—Igcoswt (1.8)

gooo



I 000000000000 »(y)OOOOOODODOOODOODOODODOODOoOoooooooo

o(t) + q(1)/C =0 (1.9)

0000000001
00000000 () =

—-Cyo(t)00000000000000000000000000

E(QDDDDDDD
a?

dq(t) Cd(—vo cos wt)
da di

OoOOooboOobOoobOoo...obooobd

it)y=0C = vowC sin(wt) (1.10)

io :vowC (111)

0000000000000 00000000oooooooooOooO0oO0OO 1/(we)oOoo
goobogn

1.3 OO

goobobbobodotoguododgooobooooooobobobobobobbobobog
gobooo

1.3.1 O00O00oboooooobn

HEN

gbogobogobodgbboobuoobbogoboobuoobooobobboooboobo
goboboooboboooaooo

[DO0045 VODOODOOOODOOSWIDSW2000 ROUODOODOOD cobobooooooboo
gobooo

nooooooooobobooooooboosw2b000oOo0oOo0oovOoOoOoOooO ZERO
ADJODOOODOODOODOODOODOO DCiovoOOOO

[ Sswig Aooooooosw2000000b0 cogpooboooooosw2oonbooboon
obooooboviOoooboobooog

Ivioooooobooboobooboobobooboo

vSsw2i00000oOswlioOBODODOODOOODooooo oobobooooooboboooo
gbobogbobooggbboooobbooobbooobbooooboooboboon
gboboboogbbbbougoobobooobboboooon

gobobogobboboogoobbbogoboboobbbooobobobod



goooog

gobobbootboogoooooooboobobobobobioodguooooooboobooboboon
gbggbdbboooboobboobooobooobooobobuoobbouooboogobo
goboooooood

goobobogobogoboobboobobbbobbboouobboobboonooboo
goboboogbboboooobobobbooobbbuoooboboboooobboooonbo

gobobogobbboooobobod

e HUUOODOOOOLDLDOOODLLUUOUOLODOUODLDbUOUOLDbLUObLDbDOUODLDLOO
gobobogobboboooobboboogbooo

e HUUUOOUDLOUOOODLDOUOOOODLDbDOOU

——
BEE
B 100 kQ \
= A] SWI | 200 pF 00
SW2 —
[ -
_/ =

U 13: 0dggobobboggooood

1.3.2 O00O0O0OOO0OOO0O0OO0O0OO0OOObOOoObDOn
gogdd

goobbobboboobodgoooooboobobobobobooboooooooboboon
goboodgooboggoor"ob»gbbuogbbogobogoboobbooboooboagn
gobobboogbobobboogooboboooboboooooboon
goboboggbobboogoobooogan

http://163.51.52.40 /users/kondo/virtual lab/japanese/rc/rc_jp.html

gbobobogobbbooooobbboooan

gbodgggboboogbboobboobboobbbooobobboobboobooon
gboggboogbogbbooboooboobuoooboboboboboboboooboobo
gooo



gbobuoggobbooooboobbooob bbb obboooboboobbouogboon
gobuooggbbougobbboogobbbodmooobooobbuoooobboooaoo
gboggboogbogbboobobobobobooboooboobbobobooobooboon
gboobogoboboooooooon

gbooogbobouogoboobooboboooboooooooobooobbooboobboo e
g "bougboboogoboboooooood

U l4: 0000oobooogooooag»ono”

HEN

gobobogoboboooaod

I0boboobobooobooboboooobobooboboobobooboboboo
gbobooggbobboogboogobboooboobooobbbooboboooboboon
gobobogobbobooooobobboogbobbouooobobood

nmooooobooooboboooboobobobobobooobuooboboboboobuooboboo
gboobogobbboogoboboogboboogon

[MooboboooobooooooboboooobbooboooodbobooboooobooOoO
OO00Ooooooobo o kHzOOOOOOO



IvioooboSwoooooooooovboooooo ZEROADJOODODODOOOODOO
OO0 ACODO0OD0O0ODOODOOOoOo03vVoooOo

vsSswiOoOOooooboooooooobobo ookHzODODOOOODOoDOobDOobDooooo
gooo

VI O0OO0000O0 50,20, 10, 5,2, 1 kHz0 00O 500, 200, 100, 50, 20, 10 HzO0OOODOOOOOO
000000000000 0000000000000000000000

gooobog

OO000oboobooooboooooooogkobobooooobobobooiloHzO0000DO
gooboggbboboogobboboogoboboooobobboogan

gogodoogbobobobobbbobbbobbboboooguoouooouoooobobobbobooboo
goodogbobobbobobbobtoodgubobouobdgoooooooooboboboboon
goobogobbboooobbbouooan

gobobogobbobooogobobod

e HUUUOUDLDOUOOOOLDDLDLDOUOUOODLOLDDLDLDOOUOObLDbLOUOO

e HUUUUOLDUOUOOODLDODLOUOUOODLOUUOUOODLDbLDDbLOUUOOULbUOOUODLDD

e HUUUOOUDLOUOOODLDOUOOOODLDbDOOU

i
|:;|
Ei!

82 kQ \

SW I —

U 15 000dbbobbggoobobbougogoboooonoon





